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2A - 3 - H2(SH) - MRAY - BAS =
g2 957,8% 150,000
20 A (LBt /ABIEHE) 775,047 150,000
A2 FRIEHSAS 552,880 150,000
A2 FOIEHSAA 552,880 150,000
401 AEHIZL 2T 552,880 150,000
01 Al&H| 550,000 150,000
OATE FOEHAAY 550,000 150,000
—42H 2212 202 AMHEHISA
600,000 *40m 24,000 24,000
—H2H 2222 XK= 212 =g HUISAL
140, 000-& *300m 42,000 42,000
g2H X=22| oH¥HIRIE 212 =&
ZHISAH 160, 0002 *150m 24,000 24,000
g2H 212 &= o2 Al 2 =52
ZEES AL 300, 000& *120m 36,000 36,000
—H2H 2322 BEA 012 AHEHISA
300,000 *80m 24,000 24,000




